
LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

L M d R M t S tLeMond RevMaster Sport

E l d d ViExploded Views

15700‐1

1/15/2009 Doc. No. 300148, Rev -



LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

15952 Pedal Assy 
(Left and Right Pedal)

15483 BB Assy 

15953 Cover Assy 
(w/decal)

15814 Belt, Drive 14044 
Bolt , Crank 

15754 Crank Left15754 Crank, Left

14039 Cover, 
Back

15953 Crank 
Pulley Assy 14086 Screw, 

Button (M6X10)

14082 Screw,
Flat (M6X10)

14320 Screw,
Dome (M4X10)

Crank Exploded View

1/15/2009 2
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE038&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE025&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE115&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE013&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE107&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE258&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=SP95129&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE116&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE116&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

14083 Screw, Flat 
(M6 X 16)

14087 Screw, 
Dome (M6 X 35)

15730
Pillow Block Assy

14080 Nut, 
Square (M6)

Dome (M6 X 35)

15950 H b A

Square (M6)

15950 Hub Assy
15720 Flywheel

Flywheel Exploded View

1/15/2009 3
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE056&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE273&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE057&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE034&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE119&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE119&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

14085 Screw, Flat
(M8 X 60)(M8 X 60)

15126 Wheel, 

14053 Cap 14089 Screw, 
Button (M6 X 45)

14091 Nut, 
Flange
(M6)

,
Transport (Black)

15708 Front Base 
Assy 14092 Nut, 

Flange (M8)
14048 Foot, 
Adjustable

( )

Front Stabilizer Exploded View

1/15/2009 4
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE250&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE047&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE058&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE054&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE050&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE121&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

14085 Screw, Flat
(M8 X 60)

14053 Cap

15714 Rear Base15714 Rear Base 
Assy

14048 Foot, 
Adjustable

14092 Nut, 
Flange (M8)

Rear Stabilizer Exploded View

1/15/2009 5
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE250&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE047&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE054&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE037&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773SA10503581SA10503581
Screw, Socket
(M5X35)

W10601581

15784
Handlebar 14070

Grommet

Washer, Flat 
(M6)

14094
Screw, Socket
(M5X15)

15951 Water 

(M5X15)

14049
Washer, Brass 

14027

Bottle Holder 
Assy

Plug
15828
Adjustment
Handle (Yellow)

14026
Plunger

15726
Handlebar Post

Handlebar Exploded View

1/15/2009 6
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE293&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE027&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE026&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE039&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE102&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE101&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE224&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE120&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

1572415616
Seat Assy Seat PostSeat Assy

14042
Seat Slider

14049
Washer, Brass

15828
Adjustment 
Handle (Yellow)

14026

14027
Plug

14026
Plunger

Seat Exploded View

1/15/2009 7
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE027&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE026&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE029&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE039&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE030&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE112&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE224&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773

15748
Brake Rod AssyBrake Rod Assy

15238
Nut, Nylon

15820
Cover, 
Brake Rod

Brake Rod Exploded View

1/15/2009 8
LeMond RevMaster Sport 15700‐1 

Doc. No. 300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE209&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE103&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE231&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams


LeMond Fitness, Inc.
15540 Woodinville – Redmond Rd.

Suite A‐100
Woodinville, WA  98072

+1(425)482‐6773
15193
Bolt SC10400581

15734
Fender Bolt, 

Female 
Shoulder

Screw, Dome
(M4 X 5)

Assy

15194

15821
Bearing, 
Fender

14088
Screw, Idler
(M6 X 40)

15194
Bolt, 
Male
Shoulder

SC10501081
14015
Nut, Idler

14064

Screw,  Dome
(M5 X 10)

15955
Pad Assy

15826Washer, 
Racetrack

14020
15728

15826
Spring,  
Fender

Spacer, Idler 15728
Idler Assy

Fender and Idler Exploded View

1/15/2009 9
LeMond RevMaster Sport 15700‐1 Doc. No. 

300148, Rev ‐

https://www.gympart.com/itemdesc.aspx?ic=LE019&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE280&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE108&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE218&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE219&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE219&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE049&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE048&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE048&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE105&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE269&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=LE268&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

